Sangaku Journal of Mathematics (SJM) ©SJM
ISSN 2534-9562
Volume 4 (2020), pp.53-60
Received 18 February 2020. Published on-line 21 March 2020
web: http://www.sangaku-journal.eu/
©The Author(s) This article is published with open access ${ }^{1}$.

## Solution to 2020-1 Problem 9

Géry Huvent<br>Lycée Faidherbe (Faidherbe high-school), 59000 Lille, France<br>e-mail: g.huvent@wanadoo.fr<br>web: http://gery.huvent.pagesperso-orange.fr

Abstract. An analytic solution to Problem 9 (2020-1) is given.
Keywords. Sangaku, ellipse, incircle.
Mathematics Subject Classification (2010). 01A27, 51M04.

## 1. The problem

We denote the semi-major axis and semi-minor axis of the ellipse by $a$ and $b$ respectively. If $r$ is the radius of the small circle in the Figure 1 , then

$$
r^{2}-2 r(\sqrt{a b}+a+b)+a b=0
$$



Figure 1.

[^0]
## 2. Notations

We use a rectangular coordinates system with origin $O$ such as the ellipse has equation $\frac{x^{2}}{a^{2}}+\frac{y^{2}}{b^{2}}=1$. Let $A, B, S$ be the points with coordinates $(a, 0),(0, b)$ and ( $a, b$ ) respectively. If $M$ is a point on the ellipse, we denote by $\mathcal{T}_{M}$ the tangent to the ellipse at the point $M$. If $M$ is a point on the quarter ellipse that contains $A$ and $B$ and if $M$ is distinct from $A$ and $B$, we denote the intersection of $\mathcal{T}_{M}$ and $\mathcal{T}_{A}$ (respectively $\mathcal{T}_{B}$ ) by $Q$ (respectively $P$ ) (see Figure 2 ).


Figure 2.
We may assume that $P$ and $Q$ have coordinates

$$
P:(a-p, b) \text { and } Q:(a, b-q)
$$

for some reals numbers $p \in] 0, a[$ and $q \in] 0, b[$.

## 3. A condition for $P Q$ to be the tangent to the ellipse at the POINT $M$

We look after a condition concerning $p$ and $q$ in order that the line $P Q$ is the tangent $\mathcal{T}_{M}$ at the ellipse. Let $\left(x_{M}, y_{M}\right)$ be the coordinates of $M$, then $\mathcal{T}_{M}$ has equation

$$
\frac{x x_{M}}{a^{2}}+\frac{y y_{M}}{b^{2}}=1
$$

(cf ref [1]). The points $P$ and $Q$ lie on $\mathcal{T}_{M}$ if and only if

$$
\left\{\begin{array}{l}
\frac{(a-p) x_{M}}{a^{2}}+\frac{y_{M}}{b}=1 \\
\frac{x_{M}}{a}+\frac{(b-q) y_{M}}{b^{2}}=1 .
\end{array}\right.
$$

Solving for $x_{M}$ and $y_{M}$, we find

$$
\begin{equation*}
x_{M}=\frac{a^{2} q}{a b-(a-p)(b-q)} \text { and } y_{M}=\frac{b^{2} p}{a b-(a-p)(b-q)} . \tag{1}
\end{equation*}
$$

The condition of tangency is obtained by writing that $M$ is on the ellipse.

$$
\frac{x_{M}^{2}}{a^{2}}+\frac{y_{M}^{2}}{b^{2}}=\frac{a^{2} q^{2}+b^{2} p^{2}}{(a b-(a-p)(b-q))^{2}}=1
$$

Thus we have $a^{2} q^{2}+b^{2} p^{2}=((a-p)(b-q)-a b)^{2}$. We expand the right-hand side of this equality, and then we get

$$
p q(2 a b-2 a q-2 b p+p q)=0
$$

From the previous formula we deduce the condition of tangency:

$$
\begin{equation*}
b-q=\frac{b p}{2 a-p} . \tag{2}
\end{equation*}
$$

We now assume that this condition holds. In this case, the lines $P Q$ and $\mathcal{T}_{M}$ are identical.

## 4. The incircle of the triangle SPQ

Let $\mathcal{C}$ be the incircle of the triangle $S P Q, \rho$ the inradius and $N$ the point where $\mathcal{C}$ touches the line $P Q$ (see Figure 3).


Figure 3.
The line $P Q$ has equation

$$
q(a-x)+p(b-y)=p q .
$$

The vector with coordinates $(q, p)$ is a normal vector to $\mathcal{T}_{M}$, and the coordinates of the center of $\mathcal{C}$ are $(a-\rho, b-\rho)$. Then the normal line to $\mathcal{C}$ at $N$ has equation

$$
p(a-x)-q(b-y)=(p-q) \rho .
$$

Because $N$ lies at the intersection of this normal line and the tangent line $\mathcal{T}_{M}$, the coordinates of $N$ are the solutions of

$$
\left\{\begin{array}{c}
p(a-x)-q(b-y)=(p-q) \rho \\
q(a-x)+p(b-y)=p q
\end{array}\right.
$$

solving for $x-a$ and $y-a$, we get

$$
\begin{equation*}
x_{N}=a-\frac{p}{p^{2}+q^{2}}(q(q-\rho)+p \rho) \text { and } y_{N}=b-\frac{q}{p^{2}+q^{2}}(p(p-\rho)+q \rho) . \tag{3}
\end{equation*}
$$

Since the inradius of the right-angled triangle $S P Q$ is

$$
\rho=\frac{p+q-\sqrt{p^{2}+q^{2}}}{2}=\frac{p q}{p+q+\sqrt{p^{2}+q^{2}}},
$$

then

$$
\begin{align*}
2 \rho & =p+q-\sqrt{p^{2}+q^{2}}  \tag{4}\\
\frac{p q}{\rho} & =p+q+\sqrt{p^{2}+q^{2}} \tag{5}
\end{align*}
$$

Adding (4) and (5), we get

$$
\begin{equation*}
2 \rho+\frac{p q}{\rho}=2(p+q) . \tag{6}
\end{equation*}
$$

Solving (6) for $q$, we get

$$
q=2 \rho \frac{p-\rho}{p-2 \rho} \text { and } q-\rho=\frac{p \rho}{p-2 \rho}
$$

From the previous equality, we deduce that

$$
\begin{equation*}
q(q-\rho)+p \rho=2 \rho \frac{p-\rho}{p-2 \rho} \times \frac{p \rho}{p-2 \rho}+p \rho=\frac{p \rho\left(p^{2}-2 p \rho+2 \rho^{2}\right)}{(p-2 \rho)^{2}} \tag{7}
\end{equation*}
$$

and with (4), we get

$$
\begin{equation*}
\sqrt{p^{2}+q^{2}}=p+q-2 \rho=p-\rho+\frac{p \rho}{p-2 \rho}=\frac{p^{2}-2 p \rho+2 \rho^{2}}{p-2 \rho} . \tag{8}
\end{equation*}
$$

Substituting (7) and (8) in (3), we get

$$
\begin{equation*}
x_{N}=a-\frac{p}{\left(\frac{p^{2}-2 p \rho+2 \rho^{2}}{p-2 \rho}\right)^{2}}\left(\frac{p \rho\left(p^{2}-2 p \rho+2 \rho^{2}\right)}{(p-2 \rho)^{2}}\right)=a-\frac{p^{2} \rho}{p^{2}-2 p \rho+2 \rho^{2}} . \tag{9}
\end{equation*}
$$

and similarly $y_{N}=b-\frac{q^{2} \rho}{q^{2}-2 q \rho+2 \rho^{2}}$ (just permute $a$ with $b$ and $p$ with $q$ ).

## 5. The exact value of $r$

Rewrite $x_{M}$ as $x_{M}=a-\frac{a p(b-q)}{a b-(a-p)(b-q)}$, with (2) we get

$$
\begin{equation*}
x_{M}=a-\frac{a p \frac{b p}{2 a-p}}{a b-(a-p) \frac{b p}{2 a-p}}=a-\frac{p^{2} a}{p^{2}-2 p a+2 a^{2}} . \tag{10}
\end{equation*}
$$

If the circle $\mathcal{C}$ is the small circle in Figure 1, then $M=N$ and $\rho=r$. Using (9) and (10) and replacing $\rho$ by $r$ gives the following equivalence :

$$
\begin{aligned}
x_{M}=x_{N} & \Longleftrightarrow a\left(p^{2}-2 p r+2 r^{2}\right)=r\left(p^{2}-2 p a+2 a^{2}\right) \\
& \Longleftrightarrow(r-a)\left(2 a r-p^{2}\right)=0 .
\end{aligned}
$$

Then, because $r \neq a$, we get

$$
\begin{equation*}
p^{2}=2 a r \text { and by similarly } q^{2}=2 b r . \tag{11}
\end{equation*}
$$

We can deduce that

$$
r=\frac{p+q-\sqrt{p^{2}+q^{2}}}{2}=\frac{\sqrt{2 a r}+\sqrt{2 b r}-\sqrt{2 r(a+b)}}{2} .
$$

Thus

$$
\begin{equation*}
r=\frac{(\sqrt{a}+\sqrt{b}-\sqrt{a+b})^{2}}{2} \tag{12}
\end{equation*}
$$

Using this value of $r$ to simplify $r^{2}-2 r(\sqrt{a b}+a+b)+a b$ shows that

$$
r^{2}-2 r(\sqrt{a b}+a+b)+a b=0
$$

thus proving Problem 9.
The second solution of $r^{2}-2 r(\sqrt{a b}+a+b)+a b=0$ is $R=\frac{(\sqrt{a}+\sqrt{b}+\sqrt{a+b})^{2}}{2}$. In section 6 , we will find the geometrical significance of $R$.

## 6. The second solution

We now assume that the incircle $\mathcal{C}$ of the triangle SPQ is the small circle in Figure 1. In this case with (11) and (12), we get

$$
\begin{equation*}
p=\sqrt{2 a r}=a-\sqrt{a}(\sqrt{a+b}-\sqrt{b}), q=b-\sqrt{b}(\sqrt{a+b}-\sqrt{a}) \tag{13}
\end{equation*}
$$

and

$$
p^{2}-2 a p+2 a^{2}=2 a \sqrt{a+b}(\sqrt{a+b}-\sqrt{b}) .
$$

Let $T$ be the point where the circle $\mathcal{C}$ touches the ellipse. From theses equalities and (10), we deduce that the coordinates of $T$ are

$$
\begin{equation*}
x_{T}=a-\frac{p^{2} a}{p^{2}-2 a p+2 a^{2}}=\frac{2 a^{2}(a-p)}{p^{2}-2 a p+2 a^{2}}=\frac{a \sqrt{a}}{\sqrt{a+b}} \text { and } y_{T}=\frac{b \sqrt{b}}{\sqrt{a+b}} . \tag{14}
\end{equation*}
$$

Let $\Omega$ be the point with coordinates $(-a+R,-b+R)$. The coordinates of the center $C$ of $\mathcal{C}$ are $(a-r, b-r)$, then from the value of $r$ and $R$

$$
\begin{aligned}
r & =a+b+\sqrt{a} \sqrt{b}-(\sqrt{a}+\sqrt{b}) \sqrt{a+b} \\
R & =a+b+\sqrt{a} \sqrt{b}+(\sqrt{a}+\sqrt{b}) \sqrt{a+b}
\end{aligned}
$$

we have

$$
\begin{aligned}
\Omega T^{2}-C T^{2} & =\left(-a+R-x_{T}\right)^{2}-\left(a-r-x_{T}\right)^{2}+\left(-b+R-y_{T}\right)^{2}-\left(b-r-y_{T}\right)^{2} \\
& =(R+r-2 a)\left(R-r-2 x_{T}\right)+(R+r-2 b)\left(R-r-2 y_{T}\right) .
\end{aligned}
$$

Basic calculations give

$$
\begin{array}{ll}
R+r-2 a=2 \sqrt{b}(\sqrt{a}+\sqrt{b}) \\
R-r-2 x_{T}=\frac{2 \sqrt{b}}{\sqrt{a+b}}(b+a+\sqrt{a} \sqrt{b}) & ,
\end{array} \quad R+r-2 b=2 \sqrt{a}(\sqrt{a}+\sqrt{b})
$$

thus

$$
\Omega T^{2}-C T^{2}=4(\sqrt{a}+\sqrt{b})(b+a+\sqrt{a} \sqrt{b}) \sqrt{a+b}
$$

and

$$
R^{2}-r^{2}=(R-r)(R+r)=4(\sqrt{a}+\sqrt{b})(b+a+\sqrt{a} \sqrt{b}) \sqrt{a+b} .
$$

The point $T$ lies on the circle $\mathcal{C}$, so $C T^{2}=r^{2}$. We thus deduce that $\Omega T^{2}=R^{2}$ and then the circle $\mathcal{C}^{\prime}$ with center $\Omega$ and radius $R$ is tangent to the ellipse at $T$. Obviously this circle is also tangent to the lines $x=-a$ and $y=-b$ (see Figure 4).


Figure 4.

## 7. An optimization problem

We prove the following theorem.
Theorem 1. When $M$ lies on the arc $\widehat{A B}$ of the ellipse, the maximum value of the inradius $\rho$ of the triangle $S P Q$ is $r$.

Proof. The condition of tangency (2) shows that $q(p)=b-\frac{b p}{2 a-p}$ and $\rho=\frac{1}{2}(p+q-$ $\sqrt{p^{2}+q^{2}}$ ) are continuous functions on $[0, a]$. The extreme value theorem states that $\rho$ obtains a maximum and a minimum value on $[0, a]$. When $p=0$ or $p=a$ we have $\rho=0$, so the maximum occurs for $p$ in the open set $] 0, a[$ and $\rho$ has, at least, one critical point in this interval.
The function $\rho(p)$ is differentiable on $] 0, a[$ and

$$
\rho^{\prime}=\frac{1}{2}\left(1+q^{\prime}-\frac{p+q q^{\prime}}{\sqrt{p^{2}+q^{2}}}\right) .
$$

Notice that the condition of tangency (2) is equivalent to

$$
\begin{equation*}
(2 a-p)(2 b-q)=2 a b . \tag{15}
\end{equation*}
$$

Thus if we differentiate (15) with respect to $p$, we get

$$
-(2 b-q)-(2 a-p) q^{\prime}=0 .
$$

Let $u=2 a-p$ and $v=2 b-q$ then $q^{\prime}=-\frac{v}{u}$ and

$$
\rho^{\prime}=\frac{1}{2 u \sqrt{p^{2}+q^{2}}}\left(\sqrt{p^{2}+q^{2}}(u-v)-(p u-v q)\right) .
$$

Thus if $p$ is a critical number for $\rho$ then

$$
\left(p^{2}+q^{2}\right)(u-v)^{2}-(p u-v q)^{2}=0
$$

Expanding the previous equality, and noticing that (15) is equivalent to $u v=2 a b$, we deduce that

$$
p^{2} v^{2}+q^{2} u^{2}-4 p^{2} a b-4 q^{2} a b+4 p q a b=0 .
$$

From $p^{2} v^{2}+q^{2} u^{2}=(p v+q u)^{2}-2 p q u v=(p v+q u)^{2}-4 p q a b$ we get

$$
4 a b\left(p^{2}+q^{2}\right)=(p v+q u)^{2} .
$$

Using $p v+q u=p(2 b-q)+q(2 a-p)=2 a b-(2 a-p)(2 b-q)+(2 a b-p q)$ and (15) we get

$$
4 a b\left(p^{2}+q^{2}\right)=(2 a b-p q)^{2}
$$

Adding $+8 a b p q$ to both sides of the previous equality, we deduce that

$$
4 a b(p+q)^{2}=(2 a b+p q)^{2}
$$

and thus, because $a, b, p$ and $q$ are positive,

$$
2 \sqrt{a b}(p+q)=2 a b+p q .
$$

The condition of tangency (15) can be rewritten as $2 a b+p q=2 a q+2 b p$, then

$$
(\sqrt{a b}-b) p=(a-\sqrt{a b}) q
$$

Dividing both sides by $\sqrt{a}-\sqrt{b}$, we deduce that $p \sqrt{b}=q \sqrt{a}$. Finally, we substitute $q=\frac{\sqrt{b}}{\sqrt{a}} p$ into (15) and we deduce that

$$
\begin{equation*}
p^{2}-2 \sqrt{a}(\sqrt{a}+\sqrt{b}) p+2 a \sqrt{a} \sqrt{b}=0 . \tag{16}
\end{equation*}
$$

Solving for $p$, we get a unique solution in the open interval $] 0, a[$ :

$$
p=a+\sqrt{a} \sqrt{b}-\sqrt{a} \sqrt{a+b} .
$$

Thus $\rho$ has a unique critical point on the open interval $] 0, a[$ and $\rho$ attains its maximum value at this point. This value occurs for $p_{0}=\sqrt{a}(\sqrt{a}+\sqrt{b}-\sqrt{a+b})$. Let $q_{0}=q\left(p_{0}\right)=\frac{\sqrt{b}}{\sqrt{a}} p_{0}$, then the maximum value for $\rho$ is

$$
\begin{aligned}
\rho\left(p_{0}\right) & =\frac{1}{2}\left(p_{0}+q_{0}-\sqrt{p_{0}^{2}+q_{0}^{2}}\right)=\frac{1}{2}\left(p_{0}+\frac{\sqrt{b}}{\sqrt{a}} p_{0}-\sqrt{p_{0}^{2}+\frac{b}{a} p_{0}^{2}}\right) \\
& =\frac{p_{0}}{2 \sqrt{a}}(\sqrt{a}+\sqrt{b}-\sqrt{a+b})=\frac{(\sqrt{a}+\sqrt{b}-\sqrt{a+b})^{2}}{2}=r .
\end{aligned}
$$

This completes the proof.
Remark. The following results are left as an exercise to the reader :
Let $p_{1}=a+\sqrt{a} \sqrt{b}+\sqrt{a} \sqrt{a+b}$ the second solution of (16), $q_{1}=\frac{\sqrt{b}}{\sqrt{a}} p_{1}$ and $P_{1}, Q_{1}$ the points with coordinates $\left(a-p_{1}, b\right)$ and $\left(a, b-q_{1}\right)$ respectively. Then the lines $P_{1} Q_{1}$ is parallel to $\mathcal{T}_{T}$ and is tangent to the ellipse. The incircle of the triangle $S P_{1} Q_{1}$ is tangent to $\mathcal{T}_{T}$ and its radius is $\sqrt{a b}$ (see Figure 5).


Figure 5.

## References

[1] Askwith E.H., The analytical geometry of the conic sections, 132. On the form of the equation of the tangent (p 123), Adam and Charles black Editor (1908). https://archive.org/details/analyticalgeomet00ehas/page/n139/mode/2up.


[^0]:    ${ }^{1}$ This article is distributed under the terms of the Creative Commons Attribution License which permits any use, distribution, and reproduction in any medium, provided the original author(s) and the source are credited.

